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QUESTION 1

In reports, the sales volumes should be analyzed according to profit center managers. Over time, the assignment of
managers to different profit centers changes. The revision department requests that the sales volumes in the reports are
correctly totaled for the manager who was responsible at the time of the transaction. How can you map these reporting
requirements in the data model? 

A. With a characteristic "profit center" that has a time-dependent navigation attribute "manager". 

B. With a characteristic "manager" that has a time-dependent hierarchy. 

C. With a characteristic "profit center" and a characteristic "manager" that are used in the same InfoCube. 

Correct Answer: C 

 

QUESTION 2

What is the functionality of Real-time Data Acquisition (RDA) in SAP NetWeaver BI? With Realtime Data Acquisition:
(Choose two) 

A. InfoPackages directly load to VirtualProviders where data is aggregated and calculated for Real- time Reporting in
SAP NetWeaver BI Web Applications. 

B. Data is transferred into SAP NetWeaver BI at regular frequent intervals. This data is then updated to DataStore
objects, where it is directly available for (operational) reporting. 

C. Data is transferred at query runtime (real-time) to VirtualProviders. No additional data storage is needed in SAP
NetWeaver BI. 

D. Background processes (daemons) in the SAP NetWeaver BI system initiate at regular time intervals the
InfoPackages and Data Transfer Processes assigned to them. 

Correct Answer: BD 

 

 

QUESTION 3

The BEx Web Analyzer provides a wide range of analysis possibilities because: (Choose two) 

A. It can use both SAP NetWeaver BI and 3rd Party BI systems as the source of data. 

B. Results of an analysis can be printed, broadcast or saved. 

C. Results of an analysis can be saved as a query definition. 

D. The results can be saved as a web template and then edited with the BEx Web Application Designer. 

Correct Answer: AB 
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QUESTION 4

In your project plan, you need to provide some guidelines for your less experienced co-workers regarding input ready
queries. Which of the following would be correct? (Choose three) 

A. Input ready queries require the special variable \\'most current data\\' for the characteristic \\'Request ID\\'. 

B. Input ready queries can only write back to Real Time InfoCubes. 

C. At least one key figure in an input ready query needs to be set to \\'data can be changed using user entries or
planning functions\\'. 

D. You have the option to set the query as changeable upon execution or not. 

Correct Answer: BCD 

 

QUESTION 5

Which of the following statements are true of the Report Designer? (Choose three) 

A. No HTML or CSS (Cascading Style Sheet) knowledge is required to create highly formatted reports. 

B. The results created from the Report Designer can be displayed as a web report, printed, or displayed as a PDF. 

C. It is possible to use the results from the Report Designer in the BEx Broadcaster. 

D. The Reports Designer can be used to develop formatted workbooks in the BEx Analyzer. 

Correct Answer: ABC 

 

QUESTION 6

If two queries are inserted into the same worksheet in a workbook, which of the following is a potential conflict? 

A. The results for one query could affect the results for the other query. 

B. The first query on the worksheet is the only query accessible by the user. 

C. If the user drills down in the first query, the query result could possibly extend into the area occupied by the second
query. 

D. The security settings of the first query would override the security settings of the second query. 

Correct Answer: C 

 

QUESTION 7

If two queries are inserted into the same worksheet in a workbook, which of the following is a potential conflict? 

A. The results for one query could affect the results for the other query. 
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B. The first query on the worksheet is the only query accessible by the user. 

C. If the user drills down in the first query, the query result could possibly extend into the area occupied by the second
query. 

D. The security settings of the first query would override the security settings of the second query. 

Correct Answer: C 

 

QUESTION 8

Which of the following statements about a DataStore Object can be made with respect to the overall architecture of the
BI system? (Choose two) 

A. A DataStore Object can be used to transfer changed data records to other InfoProviders even for non-delta-enabled
DataSources. 

B. The DataStore Object is an important component of the DataWarehouse architecture in BI systems. It can serve as
both a Target- and a Source-InfoProvider. 

C. Data from the DataStore object can only be updated into InfoCubes. 

D. Queries can be defined based on DataStore Objects of type "Standard" only. 

Correct Answer: AB 

 

 

QUESTION 9

You are preparing to create the required objects as the 1st phase of your Integrated Planning project. Which of the
following are correct options? You can: (Choose three) 

A. Build an aggregation level directly on a Real Time InfoCube. 

B. Build an aggregation level on a MultiProvider. The MultiProvider could contain a basic InfoCube with actual data, and
a Real Time InfoCube with plan data. 

C. Build an aggregation level on a MultiProvider that contains another aggregation level. 

D. Use an aggregation level as an InfoProvider in a MultiProvider. 

Correct Answer: ABD 

 

QUESTION 10

For a query definition... (Choose two) 

A. ...a DataStore Object can be selected as the InfoProvider 

B. ...more than one InfoProvider can be selected at the same time. 
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C. ...the InfoProvider selection can be determined at query runtime. 

D. ...a MultiProvider can be chosen as the InfoProvider. 

E. ... only InfoProviders assigned to your role can be used. 

Correct Answer: AD 

 

QUESTION 11

When should VirtualProviders based on Data Transfer Processes be used? (Choose three) 

A. When real-time data is needed from source systems. 

B. When only small data volumes are transferred to the queries. 

C. When a query is executed several times a day by many users. 

D. When the query is executed by only a few users at the same time and the data volume required is low. 

E. When the query requires large data volumes. 

Correct Answer: ABD 

 

 

QUESTION 12

Which of the following benefits can be realized when SAP NetWeaver Exchange Infrastructure is used to integrate SAP
NetWeaver BI with multiple sources systems? (Choose two) 

A. SAP NetWeaver Exchange Infrastructure reduces the number of peer-to-peer connections to the BI system. 

B. SAP NetWeaver Exchange Infrastructure can load data directly into InfoCubes and DataStore Objects. 

C. SAP NetWeaver Exchange Infrastructure provides a central place to manage protocols and communications. 

D. SAP NetWeaver Exchange Infrastructure functionality replaces transformation capabilities from SAP NetWeaver BI. 

Correct Answer: AC 
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